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ES Al 1,506,500,000 | 100.00 % 1,296,700,000 | 100.00 % 209,800,000 16.18 %
=3 1,333,882,633 88.54 % 1,126,004, 154 86.84 % 207,878,479 18.46 %
a 227,396,519 15.09 % 53,067,742 4.09 % 174,328,777 | 328.50 %
JI =0l &t 2 210,592,276 13.98 % 35,617,313 2.75 % 174,974,963 | 491.26 %
HE 2 ALY 496,405 0.03 % 532,645 0.04 % AN36,240| A26.80 %
Fats24 16,307,838 1.08 % 16,917,784 1.30 % AB09,946 | A3.61 %
HIXE= 167,288,380 11.10 % 169,116,952 13.04 % 21,828,572 A1.08 %
S MOHS 46,135,675 3.06 % 47,407,887 3.66 % AN1,272,212 | A 2.68 %
N & 2t 1,322,013 0.09 % 1,322,013 0.10 % 0 0.00 %
2 Al 1t 73,870,958 4.90 % 73,922,958 5.70 % AB2,0000 20.07 %
A=A 29,991,222 1.99 % 30,506,071 2.35 % A514,849 | A1.69 %
el 3,257,255 0.22 % 3,257,255 0.25 % 0 0.00 %
2018t 12,711,257 0.84 % 12,700,768 0.98 % 10,489 0.08 %
sXN&E =2 336,778,385 22.36 % 340,026,695 26.22 % 23,248,310 A0.96 %
S X & 57,815,075 3.84 % 60,586, 165 4.67 % A2,771,090 | A4.57 %
At2l = X2t 157,166,503 10.43 % 168,057,406 12.19 % A 890,903 A0.56 %
tEH=E 0 71,590,775 4.75 % 71,049,122 5.48 % 541,653 0.76 %
R R 28,753,438 1.91 % 28,469,562 2.20 % 283,876 1.00 %
A& &= 2kt 21,452,594 1.42 % 21,864,440 1.69 % AN411,846 | A 1.88 %
2= 287,667,495 19.10 % 260, 161,695 20.06 % 27,505,800 10.57 %
2 Xtel & Mt 32,650,438 2.17 % 31,468,950 2.43 % 1,181,488 3.75 %
ST= X 125,260,382 8.31 % 97,739, 144 7.54 % 27,521,238 28.16 %
22X S 12,714,749 0.84 % 13,425,680 1.04 % A710,931| A5.30 %
OlcHs &l M1t 49,507,967 3.29 % 48,987,223 3.78 % 520,744 1.06 %
At =X 29,884,852 1.98 % 29,406,905 2.27 % 477,947 1.63 %
nsHFE 37,649,107 2.50 % 39,133,793 3.02 % AN1,484,686 | A3.79 %
Fal-RelFSIES 314,751,854 20.89 % 303,631,070 23.42 % 11,120,784 3.66 %
AT Al 88,370,731 5.87 % 86,472,731 6.67 % 1,898,000 2.19 %
OF& TH &+t 71,308,581 4.73 % 70,249,241 5.42 % 1,059,340 1.51 %
B E A TH A4 1t 23,114,833 1.53 % 22,512,625 1.74 % 602,208 2.67 %
C2EE N 67,115,614 4.46 % 66,927,242 5.16 % 188,372 0.28 %
A= E 1t 57,150,841 3.79 % 49,488,218 3.82 % 7,662,623 15.48 %
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=0 ARt 7,691,254 0.51 % 7,981,013 0.62 % A289,759 | A3.63 %
=02 140,043,818 9.30 % 137,615,400 10.61 % 2,428,418 1.76 %
sI|l=HH 93,431,133 6.20 % 91,119,879 7.03 % 2,311,254 2.54 %
sgEx 55,819,460 3.71 % 53,141,030 4.10 % 2,678,430 5.04 %
sSAZHSU 16,933,945 1.12 % 17,139,372 1.32 % N205,427 | ~1.20 %
=41 9,958,986 0.66 % 10,115,735 0.78 % A156,749 | A1.55 %
sEXNT 5,393,081 0.36 % 5,393,081 0.42 % 0 0.00 %
Jl=X & 5,325,661 0.35 % 5,330,661 0.41 % A5,000 A0.09 %
AL 46,612,685 3.09 % 46,495,521 3.59 % 117,164 0.25 %
SAHH 30,598,351 2.03 % 29,681,374 2.29 % 916,977 3.09 %
FaRe g=FSN| 13,773,976 0.91 % 14,568,808 1.12 % ANT94,832 | A5.46 %
SLEANL 2,240,358 0.15 % 2,245,339 0.17 % A4,9811 £20.22 %
2/ 2,347,618 0.16 % 2,530,148 0.20 % A182,530 | AT7.21 %
SIMEZ 2,347,618 0.16 % 2,530,148 0.20 % A182,530 | AT7.21 %
O3 AR2 2,347,618 0.16 % 2,530, 148 0.20 % A182,530 | A7.21 %

AH A 10,856,546 0.72 % 11,180,913 0.86 % N324,367 | ~2.90 %
A 2 10,856,546 0.72 % 11,180,913 0.86 % A324,367 | £2.90 %
HEMHNSI 2,478,105 0.16 % 2,541,772 0.20 % N63,667 | A2.50 %
Zoi=32 4,144,494 0.28 % 4,367,534 0.34 % N223,040 | A5.11 %
ANE M2 4,043,688 0.27 % 4,081,348 0.31 % 37,660 £0.92 %
NEaMF2D 190,259 0.01 % 190,259 0.01 % 0 0.00 %
S8 19,369,385 1.29 % 19,369, 385 1.49 % 0 0.00 %
SHSARA 19,369,385 1.29 % 19,369,385 1.49 % 0 0.00 %
= 1,132,915 0.08 % 1,132,915 0.09 % 0 0.00 %
sAH 775,070 0.05 % 775,070 0.06 % 0 0.00 %
g 859,518 0.06 % 859,518 0.07 % 0 0.00 %
Ha s 748,539 0.05 % 748,539 0.06 % 0 0.00 %
22 844,304 0.06 % 844,304 0.07 % 0 0.00 %
Hz2d 1,012,494 0.07 % 1,012,494 0.08 % 0 0.00 %
Setd 865,631 0.06 % 865,631 0.07 % 0 0.00 %
e 925,505 0.06 % 925,505 0.07 % 0 0.00 %
RS 743,501 0.05 % 743,501 0.06 % 0 0.00 %
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